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1. Either x=0 or y=0.
2.{3}

3.{2}

4.{0, 9}

5. {ig}

6.{0, +5)

7.6, 1)

8.(2,1/2)

9.{x2,+4}

10. {2, -3)

11. f(x)=x%-x-6

12.{7)

13. (3x+4)(9x2-12x+16)
14, 21x%+2xy-8y?

1-8 HW Answer Key
Requiz by end of week

Wednesday Open House 6-8pm
Thursday Quiz 2 (Days 4-9)
Next Wednesday Test

Tues 9/24 1st Math League
Meeting in LGR 2:30pm
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1. If xy=0, what can you say about x and/or y.
Eotdhen. X =0,4 >0 o ot ciai. 2@ (0.
6mrl:;rm'] the roots of each equation actori o Lr:fSN-’{‘ﬂ(S
x2 6:(' 3. 5x%+20=20x
ur‘l*O A SYELoX 10=0
(ry=0 537, =5
x~3-°[ X=1% ' Lafx o =0 "2';‘* o
A=5 )lrl!'-.-)—"}’ © -, A
Z 5‘3 f l =0 2
LS
[ ﬂc\f?
4 m’-9m’= {ij 5. Qxi 49iq o
w(n-Al)= ~q =
. Cwa % (3x=1)(3¥5 7} =0
.—’%[ 3, ga:__}-:'-l}—' 3,‘;-;"!' 97
o Ce ol x=0
LcF\D0D Y
6. 4 1-T.OO =0
e L5 ) 20
Hx(x 1—5)():“'5) o
Yy o ?(4‘5 ¥=3=0 I W
xx 0 S x=5 ?OJ ~-J§
,(Eugd the zeros of each function by factoring. Wﬁ) 7=y
7. PoTx+b 8, 2x° -Gx+2 =
e W e=e g,:i} sx I
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N ,axw.a 10~ ?'3“_0
x= 1 x=] {;(—l)(l__\f_:,‘_‘,’_'_:
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spac @5 Joe >
9. f(t)= 19 - 204° + 64

(Exnh (E-2)(E

ﬁ‘f_\‘)otl.*_(gd‘“:o .5:_':._Il—lb

(€0l 0)=0 X

el OB 1S
=t m'-';“’“‘(’“’;‘? e 4
- L gix) =0 + 3k - dx 12a
e [ Sl
Texr3) 4K 3y =0
VR4 S

11. Write a quadratic function in standard form with zeros 3 and -2.
Foe) = Cx-3)(x~"2
FUR) (X -3} (X F2)
Slx)= Ko=drtaxm
Foe )y = X =K

12, What is the solution of (y - 7)°** = 07 _
AWt~ e =0
(4-1)4-7)

W =)

2"_'7* 2 2
13, Factor 27x* + 64, = @){ 4 )G‘*};{ -l +lb )
f-_ 3K
=

14. Simplify (7x - 4y)(3x + 2y). 5
= ;’.\xL-#-H;{? = 1KY -y
=a " faxy -‘B'gf“

f—+:.;i p=0 [Er4=8 tﬁ-':f!q e £ ( mj;: =0
== =D JHIL=0 | =50
st EE F25 =" 1%

Sep 1-4:28 PM

1-9: More Finding Roots And Zeros

Warm-up: Can you correctly complete the following statement without looking at
yesterday’snotes? Check with a neighborbefore checking yesterday’s notes.

equationshave € 02 \S

Functionshave 2ADS  or X~ ~leq CQPE while
or S f “\ “"'UV\S'

Explain the special role of the number zero in factoring and solving an equation.

If an equation has all factors set = to 0, then we
know at least one of the factors must be = 0. We
can set each factor = 0 to solve the equation.

Aug 27-1:35 PM
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Zeros, Roots and X-Intercepts

la. Graph f(x) =x2— 4 on your calculator.

The X -« ’\‘\‘0\% Ztéz where the function crosses the x-axis.

How many of them are there'?
(,0)

State them as full points. (T ) D\(

Sketch the function to the side and label the x-intercepts. (- X PS

(20)

b. Theseare also '[hele"D }f the function.

Find the zeros graphically on your calculator by using 24- Trgg—(Zero(
The zeros are~ and are at the same pointas the
The zeros or x-intercepts always have the same y-coordinate of Q
Integer value zeros can be seen in your calculator table by looking fory = O
c. Algebraically find the zeros of this &g\fummon by factoring means:

We set f(x) or y equal to g é— \ f(x‘)/ x2-4

Then we find the zeros by factoring and

solving the equationto find the roots. <}&~ D\)( X‘/’D\) E
E
/

=2 =2

d. We'vealready checked our zeros graphically by sketching and labeling above.

Check your zeros a y substituting them into the equation in part c.
C)\pg{L X= ehocA ="

—y = N
AP (CJ-¢=O
QQ} Y -o Y~fx O

/[~y = O<O

O=0V

Aug 27-1:36 PM

Tip for finding pair of humbers that give correct product/sum:
Enter the following into Y, and Y, on calculator: Y, = prod/x
Y, = prod/x + x

Go to the table and find the sum in Y, column. The pair of numbers you want are the
corresponding X and Y,

NORMAL FLOAT AUTOD a+bi RADIAN MP n pgéggﬂh;klﬁﬁ#?ﬁﬂc?{gﬁ RADIAN HP 1

Example: x* - 19x + 48
X Y1 Yz

Plotl Plotz Plot3

- _ ENY1E48/X
Prod = 48, Sum = -19  [iyimaarw+x
ENY 3=
E\Y4=
ENYs=
\Ye=
ENYe=
E\Ys=
E\Yg= Yz2=-19

From the table you can see the correct numbers are -3, -16

B En
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For the following:

2) Algebaically find the zeros of the function.
b) Check graphically on your calculator by sketching the functionand labeling the
x-intercepts/zeros.

¢) Check algebraically bgsub stituting your solutions into the equation.

A

Za.f‘(&bés(‘lé_s\‘v b. Graphiccheck C. Alg:ebraic check
K4x -15=0 23 )T H-3)-15=0

A X He ¥=5x—15 =0 2a) — /YT
RHKF3)-SE) =0 =829~

(x#5) (x=9) =0 (2‘0) 2(50) S H5)AS=0
>

X=-3 )7"‘"5:3‘) X(z,s/ ’(5 =50, —15 =0
x= 30, AT e
m —%2"—%_. /,5-/§ =0

3a. f(x)=x3-2x2-x+2 b. Graphic check &&lgebraic check O=0v’

2(%__ Q\xx"‘K +2=0 /
x2(x-2) -1 x-2)=0 L,\\°>

(x-2)(x*-1)=0
(}(-L)()<+/)é<— [)=0 /

)(—;)_ )(:'.'I A=l L
.‘-.
2805 v

Aug 27-1:36 PM

Find the roots of the following equations by factoring. No checks. L__Kq
_ _ -I-r
4. 4x2=36 5. 4x2=7 T ﬂ
Go-sm O =0 () £
RN - - —
§(C-)=0 =/ X

§aeey=C - (RdT
%@7\@’- = 7
o s FY et %Z?QZ

Find f the following functions by factoring. No checks.

6. f{x) = 4x7 — 28x5 + 48x° 7. f{t) =1 - 102+ 21t

2R IC=E o 527
GUS/Us AN |
/ )&SCX—Z(‘H&Q = O

i (X)) = ©
o= \\@1 N34
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